Pneumatic
Actuator




B T E—

o BERE

1.5 % B 1) & &
2bar(29psig) to 8bar(113psig) E{E &) o=
3bar(44psig) to 8bar(113psig) B FE) | &L

2.;m B & [E
1248 (NBR O-rings) :-20°C(-4°F)to +80°C(+176°F)

{&;52 88 (HNBR O-rings): -40°C(-40°F) to +80°C(+176°F)
=88 (Viton O-rings) :-15°C(-5°F) to +150°C(+300°F)

3.H ERY & i &6 [F
F 6 bar(87.psig) RiEE » REAHAETHE R 9.2 Nm(81.5in.1b) #| 1596 Nm (14140.6 in.lb)

4.T{EHH
KBRBZIRNBHEZR BEEMMRNE s kKRAFEEH  BFHEMRTREXFTEBBEOMK -

S.ITIEERE
0°R90°EH XS HIFRHERE -

6. 8%EA X
REIESPEEMKEBISO5211/DIN 3337 2% -

B R REL TR & E 4k BRVDI/VDE-3845 NAMURIR # o

7 4%

BAFRIEEARRAR  HERNERRERBFEEH XE 1,000,000% -

Y —— I

RELE 1T 33451

118
{i Bie T 8 RNAMURIZE F B 811788 £ »
B 48 54 2 LRI B (4 R 2 o

2. 85l
UEHENS BN ETmRMOS » BEE
I E 1 i BB O 1 44 o

3. 51 B2
PRIRSE A & AT 8N 15 AP E S L IR - 38
{84 37,18 b B ) B L0 B E R RO BRI o

4. U B
R B O 2 R IR RO SRR SR 0K B IR
4 o

5.AE

BESCRENEBERSSEE  BiKSH
BEHE - B514 - wHkE EUERET - B
RENHERL

6.5 IEREES
SaRkNERMERELUIRABEER - BLREM
REFERI AR -




S
>4

A H B B EQRLODAE

N NN NN
A WO N -2 O

&
e

&

2 E

B A&

AR

AE

B
mETHE
un = 1842
mE

A E A
AETHE
AEEL|R
TIRARIER
TRARES
TR EE
BREiHE
0BV
B &

i %

E i 1

LT

B &

0 BV E

7 #
4B

¥ E
A iR
FERE

ga B
B2 §5 £3
= 14 RE 5B 3T $SWP-B
TERER
A iR 6
2§ 8a
=4
THERER
=4

¥ F
A iR 60
A i 58
TRIZR
THERER
e’
ERE
2§53
CE$
=4
TERER

ShEEEE

EEFIEEE (over30um)
EEAEEE (over30um)

MABEER

IREBIPEZEI (over80um)

8 2R EE 12

0

—_— et e e -

!

(o2}

= A A A A A NN DNDNDNNNNOOON

Viton/HNBR

Viton/HNBR

Viton/HNBR

Viton/HNBR




r

= £ {F B)) Sl

e
ATD % /F &) S B2 B &6 451 :
FEP9H4E 100 Nm jp 20%
Z2FEB =120Nm
/R IERIREE S 6 bar (87psi) °
HEESREIHIERS
6 bar YA T H AR 120 Nm
E"J?ﬂ%ﬁ% 132.0 Nm
AR T A BB R ATD092 o

CCW-counter-clockwise CW-clockwise
C R
<= - <

[ I . ]
Af I Al {8
Air to port B forces the pistons inwards,

causing the piston to turn clockwise while
air is being exhausted from port A.

Air to port A forces the pistons outwards,
causing the piston to turn counter-clockwise
while air is being exhausted from port B.

N EEERIHER

1Bar=14.5Psi 1Nm =8.86 Lb-in
FBE 7 (unit: bar)

’Y 5% 4.0 5.0 6.0 7.0 8.0
8 4158 (Nm)
ATD032 6.1 1.6 9.2 10.7 12.2
ATD052 15.4 19.2 23.0 26.9 30.7
ATDO063 26.4 30.0 39.6 46.2 52.8
ATDO075 B 47.0 56.4 65.8 D2
ATDO083 60.0 750 90.0 105.0 120.0
ATD092 88.0 110.0 132.0 154.0 176.0
ATD105 131.2 164.0 196.8 229.6 262.4
ATD125 200.0 250.0 300.0 350.0 400.0
ATD140 341.6 427.0 o124 597.8 683.2
ATD160 528.0 660.0 792.0 924.0 1056.0
ATD190 853.6 1067.0 1280.4 1493.8 1707.2
ATD210 1064.0 1330.0 1596.0 1862.0 2128.0
ATD240 1539.0 1923.8 2308.5 2693.3 3078.0
ATD270 2340.0 2924.0 3510.0 4095.0 4680.0



5 EfEE)wRiEl

ATK EEENRELEREEHI :
REPI$E %6 60 Nm f11 20%

L2 %8 =72 Nm

B /IR 5 FUREE S 6 bar (87psi)
BEE T EE R ATK105120
ATK10512 & #£ 8 5 AR08 3B F

1.airtorque 0°(valve close) =123.7 Nm>72 Nm
2.air torque 90°(valve open) =83.9 Nm

3.spring torque 90°(valve open) =112.9 Nm
4.spring torque 0°(valve close)=73.1 Nm>72Nm

CCW-counter-clockwise CW-clockwise

Air to port A forces the pistons outwards, Loss of air pressure through port A allows
causing the springs to compress. the stored energy in the springs to force
The pinion turns counter-clockwise while the pistons inwards.

air is being exhausted through port B. The pinion turns clockwise while air is being

exhausted through port A.




%./B B A (unit: bar)
. 4.0 5.0 I 6.0 | 7.0
Sl bt el B ks R B B 9B (Nm)
0° | 90° | 0° | 90° | 0° | 90°  ©0° | 90° | 0° | 90°
7 5.4 7.8 , . 13.8 | 11.4
8 6.2 9.0 9.2 6.4 feid 0 lioe
9 6.9 10.1 8.5 L5} e: 1253 9.1 16.1 | 12.9
i 10 LTl ) o 7T 4.2 11.6 7.4 i(5eSmIN18 | 19.2 | 15.7
11 o 12:3 6.9 30 1027 6.9 14.5 | 10.7 | 18.4 | 14.6
12 9.2 | 13.4 10.0 | 5.8 | 13.8 | 96 | 17.7 | 135
7 8.6 13.1 17.8 | 13.3 | 23.4 | 16.9
8 9.8 149 | 16.6 | 11.5 | 20.2 | 15.1
9 11.0 | 16.8 | 154 | 9.6 19.0 | 13.2 | 28.6 | 22.8
ey 10 12.3 | 18.7 | 14.1 M2 17.7 | 11.3 | 27.3 | 20.9 | 33.9 | 27.5
11 13.5 | 20.5 16.5 9.5 26.1 | 19.1 | 32.7 | 25.7
12 147 | 22.4 15.3 7.6 249 | 17.2 | 31.5 | 23.8
7 12.6 | 18.0 | 25.0 | 19.6
8 14.4 | 20.6 | 23.2 | 17.0 | 32.6 | 26.4
ATKO75 9 16.2 | 23.2 | 21.4 | 14.4 | 30.8 | 23.8 | 40.2 | 33.2
10 18.0 | 25.7 | 19.6 | 11.9 | 29.0 | 21.3 | 38.4 | 30.7 | 47.8 | 40.1
il 19.7 | 28.3 | 17.9 | 9.3 27.3 | 18.7 | 36.7 | 28.1 | 46.1 | 37.5
12 21.5 | 30.9 255 |1 16.1 | 349 | 256,56 | 44.3 | 34.9
7 20.7 | 29.6 | 39.3 | 30.4 | 54.3 | 454
8 23.6 | 33.8 | 36.4 | 26.2 | 51.4 | 41.2
ATK083 9 26.6 | 38.1 | 334 | 21.9 | 484 | 36.9 | 63.4 | 51.9
10 29.5 | 42.3 | 30.5 | 17.7 | 45,5 | 32.7 | 60.5 | 47.7 | 75.5 | 62.7
11 32.5 | 46.5 425 | 285 | 57.5 | 43.5 | 72.5 | 58.5
12 35.4 | 50.8 39.6 | 242 | 54.6 | 39.2 | 69.6 | 54.2
7 305014459 57.5 | 43.5 | 79.5 | 65.5
8 S SRINE(EONINE STOMES I 75.2 | 59.1
ATK092 9 39.2 | 57.3 | 48.8 | 30.7 | 70.8 | 52.7 | 92.8 | 74.7
- 10 43.6 | 63.6 | 444 | 244 | 66.4 | 46.4 | 88.4 | 68.4 |110.4| 90.4
11 47.9 | 70.0 62.1 | 40.0 | 84.1 | 62.0 | 106.1 | 84.0
12 52.3 | 76.3 57.7 | 33.7 | 79.7 | 55.7 |101.7 | 77.7
7 426 | 65.9 | 88.6 | 65.3 |121.4 | 98.1
8 48.7 | 75.3 | 82.5 | 55.9 | 115.3 | 88.7
ATK105 9 548 | 84.7 | 76.4 | 46.5 1109.2| 79.3 | 142.0| 112.1
10 60.9 | 94.1 | 70.3 | 37.1 |103.1| 69.9 |135.9|102.7 | 168.7 | 135.5
1M 67.0 | 103.5 97.0 | 60.5 |129.8| 93.3 | 162.6 | 126.1
12 73.1 | 112.9 90.0 | 51.1 |123.7 | 83.9 | 156.5 | 116.7
7 66.9 | 102.5|133.1| 97.5 |183.1|147.5
8 76.5 |117.2 1 123.5] 82.8 | 173.5]132.8
ATK125 9 86.1 |[131.8| 113.9| 68.2 |163.9|118.2 | 213.9 | 168.2
10 95.6 |146.5|104.4| 53.5 |154.4 | 103.5|204.4 | 153.5 | 254.4 | 203.5
11 105.2 | 161.1 1448 | 88.9 | 194.8 | 138.9 | 244.8 | 188.9
P12 114.7 | 175.8 135.3| 74.2 | 185.3[124.2 |1 235.3|174.2




RIREhH (unit:ibar)

: 4.0 | 5.0 | 6.0
Bt =BEH| BEME % B8 L (Nm)
0° | 90° | 0° [ 90° | 0° | 90° | 0° | 90° | o0° | 90°

7 111.4 | 167.9 | 230.2 6 | 259.1
8 127.4 | 191.9 | 214.2 [ 149.7 | 299.6 | 235.1
9 143.3 | 2159 | 198.3 [ 125.7 | 283.7 | 211.1 | 369.1 | 296.5

ATKI40 = | 159.2 | 239.9 | 1824 | 101.7 | 267.8 | 187.1 | 353.2 | 272.5 | 438.6 | 357.9
11 175.1 | 263.9 251.9 | 163.1 | 337.3 | 2485 | 422.7 | 333.9
12 | 191.0 | 287.8 | 236.0 | 139.2 | 321.4 | 224.6 | 406.8 | 310.0 |
7 173.1 | 273.3 | 354.9 | 254.7 | 486.9 | 386.7
8 197.9 | 312.3 | 330.1 | 215.7 | 462.1 | 347.7

- 2226 | 351.4 | 305.4 | 176.6 | 437.4 | 308.6 | 569.4 | 440.6
10 | 247.3 | 390.4 | 280.7 | 137.6 | 412.7 | 269.6 | 544.7 | 401.6 | 676.7 | 533.6
11 272.1 | 429.5 387.9 | 230.5 | 519.9 | 362.5 | 651.9 | 494.5
12 | 296.8 | 468.5 363.2 | 191.5 | 495.2 | 323.5 | 627.2 | 455.5
7 265.0 | 448.0 | 588.0 | 405.0 | 802.0 | 619.0
8 303.0 | 512.0 | 550.0 | 341.0 | 764.0 | 555.0

ATK190 —2 341.0 | 576.0 | 512.0 | 277.0 | 726.0 | 491.0 | 939.0 | 704.0
10 | 379.0 | 640.0 | 474.0 | 213.0 | 688.0 | 427.0 | 901.0 | 640.0 | 1114.0| 853.0
11 417.0 | 704.0 650.0 | 363.0 | 863.0 | 576.0 [1076.0| 789.0
12 | 455.0 | 768.0 612.0 | 299.0 | 825.0 | 512.0 [1038.0| 725.0
7 365.0 | 616.0 | 807.0 | 556.0 | 1101.0  850.0
8 417.0 | 704.0 | 755.0 | 468.0 [1049.0 762.0 .

el 2 469.0 | 792.0 | 703.0 | 380.0 | 997.0 | 674.0 |1290.0| 967.0
10 | 521.0 | 880.0 | 651.0 | 292.0 | 945.0 | 586.0 | 1238.0| 879.0 |1531.0{1172.0
11 573.0 | 968.0 893.0 | 498.0 | 1186.0| 791.0 |1479.0/1084.0
12 | 625.0 |1056.0 841.0 | 410.0 |1134.0| 703.0 [1427.0] 996.0
7 545.0 | 959.0 |1293.0| 879.0 [1753.0/1339.0
8 622.0 | 1096.0/1216.0| 742.0 |1676.0/1202.0

s 700.0 | 1233.0/1138.0| 605.0 | 1598.0 1065.0 2057.0| 1524.0
10 778.0 11370.0/1060.0| 468.0 |1520.0| 928.0 1979.0_‘1387.0 2439.0{1847.0
11 856.0 | 1507.0 1442.0| 791.0 | 1901.0|1250.0/2361.0/1710.0
12 | 934.0 |1644.0 1364.0| 654.0 ' 1823.0| 1113.0|2283.0|1573.0
7 742.0 |1344.0/1843.0{1241.0|2488.0|1886.0
8 848.0 | 1536.0/1737.0{1049.0| 2382.0|1694.0

ATK270 2 1 954.0 |1728.0/1631.0] 857.0 |2276.0/1502.0,2922.0| 2148.0
10 |1060.0] 1920.0|1525.0| 665.0 |2170.0/1310.0| 2816.0| 1956.0| 3463.0|2603.0
11 |1166.0|2112.0 2064.0/1118.0 | 2710.0| 1764.0{3357.0|2411.0
12 |1272.0/2304.0 1958.0| 926.0 |2604.0| 1572.0|3251.0/2219.0




B AR
AT 032
AT 052
AT 063
AT 075
AT 083
AT 092
AT 105
AT 125
AT 140
AT 160
AT 190
AT 210
AT 240
AT 270

s e
?:?f‘ﬁﬁ:z‘?!

xr ‘;é o

00
il [ ;
A ‘ $ ; E
H»xM5-8
#10-32UNF 14" 20UNF
1/4" NAMUR 1/2" NAMUR
Units: mm
A B g D E F G H I N J K L M TEEE
10 45 45 65 225 225 M1 50 25 9 FO3 M5x7.5 G1/8"
154 72 605 92 30 42 14 80 30 11 F05 FO03 M6x10 M5x7.5 G1/4"
178 88 71 19 36 47 16 80 30 14  FO7 F05 MB8x13 Méx10 G1/4"
188 1005 78 1205 42 53 16 80 30 14  FO7 F05 M8x13 Meéx10 G1/4"
208 109 86 129 46 57 21 80 30 17 FO7 FO05 MB8x13 Méx10 G1/4"
265 17 91 137 50 &85 21 80 30 17 FO7 FO05 MB8x13 Meéx10 G1/4"
2705 134 104 154 575 64 26 80 30 22 F10 FO07 M10x16 M8x13 G1/4"
304 157 1205 187 675 745 26 80 30 22 F10 FO7 M10x16 M8x13 G1/4"
394 174 126 204 75 77 35 80 30 27 F12 F10 M12x20 M10x16 G1/4"
459 199 142 229 87 87 35 130 30 27 F12 F10 M12x20 M10x16 G1/4"
528 232 172 264 103 103 40 130 30 36 F14 F12 M16x25 G1/4"
538 257 194 287 13 113 40 130 30 36 F14 F12 M16x25 G1/4"
660 291 245 321 130 130 50 130 30 46 F16 M20x26 G3/8"
740 330 2713 360 147 147 50 130 30 46 F16 M20x26 G1/2"
—t— N e
\EEREZEBIRAE

LI JIN INDUSTRIAL CO.,LTD

434-41 e mEEHEREEFIDERA3-15%
BE5E 1 +886-4-2359-3997
5K : +886-4-2359-6123  www.lijin-flowcontrol.com

E-mail : li.jin8@msa.hinet.net



